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X 2 i dere
X 5. gieirefiT smsErdeE
X 4 gigirefeT dere
Question ID : 99836723861
Status : Answered
Chosen Option : 1
OB Zw TR F HEY F 3T 3EY AT aiar (T B 22
Ans X1 Si-F
X260
X 3 Si=0
v+ C=0
Question ID : 99836723921
Status : Answered
Chosen Option : 4
3 e Yo & FHRE HCOI HR AR s & seaa F4 ger 27
Ans 1.4 =8
K2§:2
vi3:1
K421
Question ID : 99836723869
Status : Answered
Chosen Option : 3
&P ot F @ FlA-E 3] R 87
Ans X 1.PCls
v C03 3
X 3. ClOy
4 NHs

Question ID :
Status :
Chosen Option :

99836723882
Answered
2

% e et Ak gder e & 0T F T Sendues R &

Ans

x 1. Kw / Kb
< 2 Ky, (Ka. Kp)




X2 Ky /K,
v Ky /(K Kp)

Question ID : 99836723922
Status : Answered
Chosen Option : 4

O B & ¥ Brw O # e afdw swear @ B2
Ans 1. F3C-COOH

< 2. FCH»-COOH

< 3. FoCH-COOH

< 4 CH4-COOH

Question ID : 99836723877
Status : Answered
Chosen Option : 1

e # ¥ AT T andEr i B2
Mo e sk TeEeE

X2 vErée AR tEEE

X 3. wEde 3 asfas

X 4 e 3R TeEET

Question ID : 99836723908
Status : Answered
Chosen Option : 3

O T § ¥ P gEsEaEE 30E SRS 7
Ans X1 Yb(OH)3

v 2 Pr(OH)3

/< 3. Eu(OH)3

X 4 Gd(OH)3

Question ID : 99836723876
Status : Answered
Chosen Option : 4

W B F ¥ Flear 97 TTERRE siFEEs aAET 27
Ans X1 G

v 2 Al

X 3 Bi

X4 C

Question ID : 99836723932
Status : Answered



l Chosen Option : 2

O s ST A, AE/AV = , 9 JIUTE = =T

Ans

X 1 3%aar

X2 T

v 3 A
X o TOATH

Question ID : 99836723853
Status : Answered
Chosen Option : 2

Q42 Pm & @ Fia-ar @9y 3iceaes & S B & SR e 87
At X1 K = o2/ (1-aC)

X 2K =Cal (1-a?)

v 3K =Ca?/ (1)

X+K=C/(1a

Question ID : 99836723846
Status : Answered
Chosen Option : 3

W G F Y Fle TR (CHemfes) 7 B
Ans XT m

X 2 TEraEEed

v 5 GhfefEa

X 4. FrreniEaa

Question ID : 99836723851
Status : Answered
Chosen Option : 1

= # ¥ P o Rl o 37

Ans  of 1. HTTITT
X 2 Heded

X4 g

Question ID : 99836723859
Status : Answered
Chosen Option : 2

Q45 srfuseEe T e FeiUehd ¥ OT NEFTAT F FH FiF-ar B2
Ans X1 Rl < RBr < RF < RCI
v 2 RF < RCl < RBr < RI



/3 RF < RCI < RI <RBr
/4 Rl < RBr < RCI < RF

Question ID : 99836723878
Status : Answered
Chosen Option : 2

Q46 T # ¥ - OifFE a=ar & 79 A0, & RuE & Few ARtaewEs, gEseT &
wffEaT F=ar 27

Ans X 1. HCHO
X2 CO,
X 3. HCOOH
¢ CH30H

Question ID : 99836723879
Status : Answered
Chosen Option : 3

Y o F W FF @ 9 R § 9 ST 22
Ans X1-Ag

<2 Co
v': Fe
X 4 Mn

Question ID : 99836723844
Status : Answered
Chosen Option : 3

Q.48 ofy o Fefes Wi & o F wgER 387 % C. 9.7 % H F 3k sm=r 30y gzgmn 62.1 g/mol
&, o SEe T g w4 gem?

A X1 C3Hy0;
<2 CgH1208
% 3. CH30
v 4 CoHgOy

Question ID : 99836723885
Status : Answered
Chosen Option : 4

Q49 H.ogamey wieew #, oS Wen F TAN FH Tl & AR H Ao el @ §2
e K1122x 107 s

X2 647 x 1071° g1

X3 328 x 1036 g1

V4247 x 10 19 &1

Question ID : 99836723892
Status : Answered
Chosen Option : 3




W P # ¥ Fla-ar AT w0 & v we &2
Ans X 1. Mg > Be > Ca > Sr

v'2 Be > MG > Ca > Sr

X3 Sr>Ca>Mg > Be

X4 Sr>Ca>Be > Mg

Question ID : 99836723857
Status : Answered
Chosen Option : 3

Q51 e & @ Fimar Wi a7 o= ¥, o9 TiCl, fFfEuEeEEee F ¥ @ s i
Ans 5 1 Ti(0)

X 2 TiCly

v 3 TiCl,

X 4 TiClg

Question ID : 99836723860
Status : Answered
Chosen Option :'1

* INICN)g1> r sifafer amam grer 32
s S i st
X 2. TTSHeHT
X s g @eaae
X 4 RrufEsagAr R

Question ID : 99836723911
Status : Answered
Chosen Option : 1

Q.53 | frew - m@ =TT %’I
\ x4 aH=AG+T(%)

x 2 ﬂG=ﬂH—T(¥)P

x s ﬂG=ﬂH+T(%)P

v ﬂG=ﬂH+T(¥)

P

Question ID : 99836723865
Status : Answered
Chosen Option : 2

Q.54



gFearass e &= g 82
Ans x1_m+m

X 2 g7 + AR + HIEhS

X 3 FFHIEES + AR

V4T + AR

Question ID : 99836723901
Status : Answered
Chosen Option : 3

Q55 Srirar faeras & p-FelieT #, a-FelbIS § TRV, e & @ fhwe seeRor 87
Ans x1m ﬁa

v 2 seFaeiT AT

X s wmETTT FTEGRT

X4 mRer sfEfRa

Question ID : 99836723862
Status : Answered
Chosen Option : 2

Q.56 zfx 90 g FEer T F 6 g AT T A §, A AT RemA F AT @| Fraan gem?
Ans 1. 760.3 mm
< 27582 mm
#3.761.0 mm
v 4 744.8 mm

Question ID : 99836723855
Status : Answered
Chosen Option : 2

Y Ea # ¥ F- TF YIed (TEfdE) &2
X T

L At s s, @

X o s

X+ e

Question ID : 99836723837
Status : Answered
Chosen Option : 2

Q58 fm & ¥ =91 ITHeET (FTRE) HR FeeERT (AeRTe) SAAtE, aE B g 87
Ans X1 3T NHy
X2 3% AsPhs

X 3. 37 IFg



v« 3F PClg

Question ID : 99836723918
Status : Answered
Chosen Option : 2

Q59 B #ifeert / AT § ¥ FA-T T Feww F 7 o a0 &, 3R 7 & s i

Ans

v 1 CHy

# 2. H30"
<3 BHy
X 4 NH4*

Question ID : 99836723930
Status : Answered
Chosen Option : 1

Q60 o SifnaftaTETss, LIAH, ¥ a1 i@ axar &, af e & & 77 a9ar 22

Ans

X IR 3
X 2 TRHEE

v o gt tEe

X 4 TS HFEAT

Question ID : 99836723902
Status : Answered
Chosen Option : 3

! st ¥ simdus & B @ vear wF = 2
A f1s>p>d>f

N2s>p>f>d

X 3 f > dGF p

Kaf>d>p>s

Question ID : 99836723898
Status : Answered
Chosen Option : 1

2 gur Fifr TEST F BT 9 w7 odr e F=m

Ans X 1. 2\ =dsine
< 2 ) =d/2 sine
v 3 ) =2dsine
&< 4 ) =dsine

Question ID : 99836723839
Status : Answered
Chosen Option : 3

Q.63 e & & FIF-0T 309 G99 TG §, T FARASA, FATA Fr 9Py F FEeEs F Ay aHmEw

T §7?




Ans x1_m—iﬁ*ﬂl’fﬂﬁrﬁﬂ

X 2. 0 - Farl uffee

Vo o
X 4 p - FeIRT wleAferd

Question ID : 99836723906
Status : Answered
Chosen Option : 3

Q64 OH Tt ¥ T ¥ 3RS @9 W, BET & F Fa-d arg [M(OH),] ad Famr

Ans

< 1Al
< 2 Be
Vs Mg

X 4 Be 3T Mg

Question ID : 99836723858
Status : Answered
Chosen Option : 1

Q.65 frm & ¥ Fi-ar AfE o9 97T B, 99 9 sees, S A gt dr suftvg &7 Mg F Ay

HAfFT =T &7
Ans X Sl
X 2. gAeagss
X 3 groraTer
VER-
Question ID : 99836723913
Status : Answered
Chosen Option : 4
Q.66 w .
SOFCI TUAT T TR Ul HH HiA-AT g2
Ans X1 FE>Cl>Br>|
v'2Cl>F>Br>I
KX3Br>Cl>F>|
X4Cl>Br>F >
Question ID : 99836723897
Status : Answered
Chosen Option : 2
O O F @ fw BT F RReree 3= wfaee & o ST 2
Ans

X 1. Ce-earths
X 2 ThO,

X 3. U-earths
v 4 Y-earths

[ Question ID : 99836723875



Status : Answered
Chosen Option : 2

i faedw A AR
X2 e ¥R e
<5 afenfas AR daeie
K4 R 3R O

Question ID : 99836723904
Status : Answered
Chosen Option : 3

W% S & O e T et F gonT Y A6 A

Ans X 1. Pka = -log 1/K
v 2 Pka = -log K
< 3 Pka = log K
< 4 Pka = log 1K

Question ID : 99836723835
Status : Answered
Chosen Option : 2

O it B AT w1 g FT 2

FAaT?
Ane X111, 2 - Reoum
X 2 et
X s St
v 4 N¥F 3T

Question ID : 99836723900
Status : Answered
Chosen Option : 1

|j7' o9 "iefimA ueiAEs, vewe SAEes ¥ sEfEar s it geseess g, o sifaw soare #w

VSR C—.
X2 'a*" & Hehagaeh
K o i S
K e e

Question ID : 99836723870
Status : Answered
Chosen Option : 3

Q72 frm & ¥ Fawr Aifs g7 v vHw 3o 3 ¥, 5 19w, S SWewss $ sty &
FrEEISTe - SIESS F Ty HRART Far 37

|'7 dm P 3@ #1 3 Few F9 e aar 27



Mo s s
X 2 JerTArEs 3FE
V51 - S e
X4 2 - FiAr 9o

Question ID : 99836723866
Status : Answered
Chosen Option : 4

Q.73 Co-Mn 3297 ¥ 3UFHA & p-asad, daae & vy 3fHfFar war § ar sia-ar s aq9ar 2

Ans 1 S r e WEe
X 2. am=ardfee s
X3 Fedfes s
X4 AR rFe

Question ID : 99836723886
Status : Answered
Chosen Option : 1

O S O Y IcT #T g9 T g A% gar 32

Ans x,]_ Mg
X2C
X 3. S
v Al

Question ID : 99836723891
Status : Answered
Chosen Option : 4

O e & @ o Saop & g@r AR S 9w e 32

Ans oAl
X 2. FOfeIE HFA
v fE
X« st

Question ID : 99836723871
Status : Answered
Chosen Option : 3

@7 BgHy¢ #r TTEeT FAT 7
Ans 5

X2 fgr

X o g

A




Question ID : 99836723924
Status : Answered
Chosen Option : 4

Q.77 & sara ¥ f@w 120°C 9 I Ni &1 suitufy & Fouamsesy, e & @y A3 & #7

At X TE R

X 2 FFEATATES
X 3. SETATATS T
v EERRATATS

Question ID : 99836723873
Status : Answered
Chosen Option : 1

O O F @ FAr e (§) R F IS FH P2

Ans

v HyO < NH3 < CHy
22 HyO < CHy < NH3
23 NHz < HyO < CHy
X4 CHy < HoO < NH3

Question ID : 99836723893
Status : Answered
Chosen Option : 1

O mreare a3k e w2

Ans

X 1. ArAreRTEE

v 2. FIEleTEs R AFdeREE

< o sTedaTTEs

X 4. FAETHEE 3 sEdewTeE

Question ID : 99836723933
Status : Answered
Chosen Option : 3

Q80 1Mabedef] 3 fraar SR AT (MEAER) 39T @ &7

Ans

X113
X25
23 30
VERI

Question ID : 99836723912
Status : Answered
Chosen Option : 3

Q.81 Ty g = aIc9d § &, UF 79 S0 38 FeT & 939 FE, S (n+) AT @OF 7 g

Ans

v aTEars e




X2.§UE'EIFTI'"I?I'&?T
X< 3 utAEd e
X 4 wafPuaaar e

Question ID : 99836723894
Status : Answered
Chosen Option : 1

Q82 o3 somEdiede, NaOH & @1y 3P T &, S P § @ 71 s &2

Ans 3 1. HOH,C-CH,0H
v 2 HOH,C-COONa
3 OHC-CH,ONa
X 4 HOOC-COONa

Question ID : 99836723890
Status : Answered
Chosen Option : 3

¥ e F @ FiT - W o fawardy o 27

Ans (1EE'L!"‘{IT
< 2. 9T
< 3. grgor
P11

Question ID : 99836723874
Status : Answered
Chosen Option : 2

¥ sgew & e w wEer & ww Rulae = ad 2

Ans

X 1. 9T ITE

A8 P T I

X 4 uHETer (IR

Question ID : 99836723845
Status : Answered
Chosen Option : 2

Q.85 fom # ¥ wiw-ar A a7 aaar §, 79 3ew F AR F g, dEeT &y AR wer

Ans %?Xm:rﬁhaﬁm;r
x> chge
v 5 fisarer
X 4 FrATosgss




Question ID : 99836723926
Status : Answered
Chosen Option : 4

A W AR
X2 AR
X 3. TATERIAT
X 4 Hefela

Question ID : 99836723864
Status : Answered
Chosen Option : 4

O o # @ W A & sew RegemuTeRs #eR g 87
Ans o1 NaCl

< 2. HBr

< 3. HCI

x4. H2

Question ID : 99836723889
Status : Answered
Chosen Option : 3

a8 | HREdeREEg #T 3EEIT L

Q88 Qg & ¥ Hla-wr ehw, Rw-gw AR (FAETE) F 7 F s9feud @ wehar 82
Ans X 1.1, 3 =gaTSIEA

V2 2 - =i
X3 2 - PEe-2-9ed
K41 - e

Question ID : 99836723856
Status : Answered
Chosen Option : 2

RS

Q89 s swet, HNO; & wry #f@fdar awar &, & fve # @ #l9-w 3091g wog@ aar 22
Ane X1 o - AT AR

X2 m - AT AT

X3 2, 4 - sEfAEr AT A

v 4 p - STAT S

Question ID : 99836723883
Status : Answered
Chosen Option : 4

N Sz & ¥ Fia-r 3BT 2w IWFI T vE FEEoT A

Ans



1. CHsCOOH + C:H;0H —> CH3COOC:Hs
W 2 CHi+20; — CO: + HO

7< 3. CH:NH: + CH:Cl —> CHsNHCH: + HCl

K 4 N2+ 3H; —> 2NH;

Question ID : 99836723850
Status : Answered
Chosen Option : 2

O G # ¥ rws BT ke $r @, @ T @ & e 8 S 2

Ans

v i agaEE F 10°C §e W
K2 aAE & 1°C 989 W
X 3 @A % 100°C sed T
X 4 AT % 5°C §en W

Question ID : 99836723841
Status : Answered
Chosen Option 1

O e F @ frwd T (0) gfays et @ 27

Ans

X 1. HyO
v 2 CgHg
X 5 NH3
< 4 NO

Question ID : 99836723925
Status : Answered
Chosen Option : 2

% A7 e F ¥ e e 37

Ans

Alam g
X2 3| F
X3 ggH 37T
viadwm AT

Question ID : 99836723849
Status : Answered
Chosen Option : 4

% sp3d3 F T YHR F HEY T ITEYT B 2

Ans

v 1. 90°, 72°
<2 90°
X3 72°




< 4.180°, 60°

Question ID : 99836723919
Status : Answered
Chosen Option : 1

O B F ¥ P (FE-Y) 3T T F FnE
Ans %1 NO,

X2 SO,

v 3 S0, 3k NO,

# 4 No 3k co

Question ID : 99836723931
Status : Answered
Chosen Option : 3

P T & ¥ 5 T F ISR Cro,2 F WA g 27

Ans

X 1. NOsZ
X 2 POy
Vs 80,2
# 4 NO3

Question ID : 99836723848
Status : Answered
Chosen Option : 2

Y R FH I BT T T a2
Ans X 1. 02 -

X2 F

XsLit

W4 Bez+

Question ID : 99836723895
Status : Answered
Chosen Option : 4

O o F ¥ P HeR 9 g 2
v 2 sfaETes
X o IR-Hlggr Terd
X 4 sigdasha e

Question ID : 99836723923
Status : Answered




l Chosen Option : 1

% FISRET (FH HHAT) FT ATH FT E?

Ans

X 1. mole kg™
X 2 mole.ml’!
v 3 mole.lit™!

X 4 g.equivalent.lit”!

Question ID : 99836723872
Status : Answered
Chosen Option : 3

Q100 g & ¥ s FROT Au, Pt Ir TS RIS & 3T g 2
Ans x1ﬁﬁﬁﬁ
X 2 T HTARIOT Fatt

Question ID : 99836723852
Status : Answered
Chosen Option : 2

Section : Language Competency Test

Q1 Fill in the blank with the most appropriate word:

You must study indepth.  Knowledge will not fetch you a good result.
Ans 1. Superseding
« 2. Superficial
7< 3. Superfluous

/< 4 Superposed

Question ID : 99836723937
Status : Answered
Chosen Option : 3

Q2 gelect the most appropriate option to fill in the blank.

She topped the school in the board exams, ?

Ans 3 1. hasn’t she
# 2 did she
#< 3. has she
v 4 didn’t she

Question ID : 99836723943
Status : Answered
Chosen Option : 3




Q3 Select the correctly spelt word:

Ans o 1. benevolent
#< 2. banevolent
#< 3. banevoilent
#< 4. beneviolent

Question ID : 99836723936
Status : Answered
Chosen Option : 2

Q4 Select the most appropriate meaning of the given idiom:

stir up a hornet’s nest
Ans 1. to spoil the show
#< 2. to be scared

+ 3. to cause trouble
7< 4. to be restless

Question ID : 99836723935
Status : Answered
Chosen Option : 1

Q.5 Fill in the blank with the most appropriate word:

You must on your expenses if you want to live within your means.

Ans  of 1. cut down
/< 2. cutup
/< 3. cut out
< 4 cut off

Question ID : 99836723938
Status : Not Answered
Chosen Option : --

Select the correct sentence structure:

Ans '?{ 1.

The river cast his net into the fisherman a good catch for hoping.

v %)

The fisherman cast his net into the river hoping for a good catch.

X 3.

The fisherman cast the river into his net hoping for a good catch.

&4

The net cast his fisherman hoping for a good catch into the river.

Question ID : 99836723945
Status : Answered
Chosen Option : 3




Select the correct passive form of the sentence:

The children are building a tree house.
Ans 1. A tree house was built by the children.
/< 2. Atree house are being build by the children.
7% 3. Atree house have been build by the children.
« 4 A tree house is being built by the children.

Question ID : 99836723942
Status : Answered
Chosen Option : 4

Q8 gSelect the most appropriate direct speech of the given sentence:

Suman told me that my mother was waiting for me at the gate.

Ans x1_

Suman said to me.” Your mother waited for you at the gate.”

&2

Suman said to me,” My mother is waiting for you at the gate.”

X 3.

Suman said to me.” Your mother was waiting for me at the gate.”
v

Suman said to me,” Your mother is waiting for you at the gate.”

Question ID : 99836723941
Status : Answered
Chosen Option : 4

Q9 Select the most appropriate synonym of the given word:

EARNEST
< 1. facetious
75 2 clumsy

/< 3 jocular

¥ 4 solemn

Question ID : 99836723947
Status : Answered
Chosen Option : 1

Q10 galect the correct sentence structure:

Ans

« 1 A polygon which has three sides is called a triangle.
/< 2. Atriangle is called a polygon which has three sides.
/< 3. A triangle which has sides three is called a polygon.
/< 4. A three sides has triangle which is called a polygon.

Question ID : 99836723944
Status : Answered
Chosen Option : 4



.

Q11 Identify the segment in the sentence which contains the grammatical error:

It is me who scored the winning goal in the match.

Ans X 1. who scored
/< 2. in the match
7% 3. the winning goal
W 4 It is me

Question ID : 99836723939
Status : Answered
Chosen Option : 1

Q.12 Select the alternative that will improve the underlined part of the sentence. In case there is no

improvement, select 'No improvement’

The shopkeeper gave me a tore ten-rupees note.

Ans /1. a torn ten-rupee note.
X 2. No improvement
/< 3. a torn ten-rupees note.

/< 4 a tored ten-rupees note

Question ID : 99836723940
Status : Answered
Chosen Option : 4

Ans x1.

The children are laying the table when mother cooked dinner.
/< 2. The children laid the table when mother is cooking dinner.
v

The children laid the table while mother was cooking dinner.
&4
The table was laid by children while mother is cooking dinner.

Question ID : 99836723946
Status : Answered
Chosen Option : 4

Q14 Select the most appropriate synonym of the given word:

LOATHE
7< 1. praise
< 2 hurt
« 3. hate
< 4 love

Ans

Question ID : 99836723948
Status : Answered
Chosen Option : 2

|
Q13 galect the correct sentence structure:
|



Q.15 Fill in the blank with the most appropriate antonym of the underlined word in the sentence:

He gets regular promotions because he is industrious but his brother is so

Ans X 1. prompt
/< 2. energetic
v 3 indolent
/< 4 insolent

and unwilling to work.

Question ID : 99836723949
Status : Answered
Chosen Option : 2

1 gug' T e AT
Ans x1_ m

2

v 2 gaer
Pl -t l)

X< 4 T

Question ID : 99836723953
Status : Answered

Chosen Option.: 2

T ey e & Fwwr 3w &7
Ans J1_ 3TeT:

Ko

X5 sy

X 4 3er

Question ID : 99836723955
Status : Answered
Chosen Option : 1

Q.18 ha?r, Q]EEFFH?}?‘F&-%“
Ans "1;3?%-

X2 §Hg

/< 3. &JoT

< 4T

Question ID : 99836723952
Status : Answered
Chosen Option : 3

O aglerdr # @ wfYr - e b
L

v 2 g + e

X3 FET + A

X4 FE + e




Question ID : 99836723957
Status : Answered
Chosen Option : 3

92 Ex-officio’ T fa=ar 2797 &

Ans (1. ,I-_:.,Ei ﬂ
X 2 ¥egEgr

=

X5 afedged
X 4 gfgetaa

Question ID : 99836723950
Status : Answered
Chosen Option : 3

Q.21 ‘E(L‘ET’EFI' < fa‘-lﬁ'%:

Ans J1_ e
X 2 T
Ksoag

Ko

Question ID : 99836723963
Status : Answered
Chosen Option : 1

2 Gfafda # ¥ w1 w3 A

Ans x1.m_@q

< 2 grer - 9ifor
v o g - e
2{'4.%13'-34'@':(

Question ID : 99836723962
Status : Answered
Chosen Option : 1

Q.23

< 2. geTaATdS
v s g=oredw
K4 T

‘T STedT TIEY & S0 e W & e 27
e X FroEieEtes

Question ID : 99836723959
Status : Answered
Chosen Option : 2




O g ez Braer o 3
Ans xt ﬁ.‘a_

W 2 BefAT

X3 T

X 4 &l

e

Question ID : 99836723961
Status : Answered
Chosen Option : 3

% ‘Fellowship’ T f&=dr 19T &
A g sdETEfeT

X 2 afysfaes

< 5. AgedrEr

X 4 TShiaeRr

Question ID : 99836723951
Status : Answered
Chosen Option : 1

% et ARt @ e s AT T Y TER & 82
"t i w

X 2 Ty areg

XK s GgFa T

v 4 T T

Question ID : 99836723958
Status : Answered
Chosen Option : 4

O ¥ AT AR T A AT @ A H B AR
A i amE ®

X2 #g

Xogaw¥

X 4 wEw

Question ID : 99836723960
Status : Answered
Chosen Option : 3

O rfafea & @ $a T # I 7 8
Ans X1EIEF§
v o HFRE



Question ID : 99836723956
Status : Answered
Chosen Option : 4

Q.ZQ‘%,ﬁ ﬁh %_?

Ane X st
X 2 HoaAd
X3 Yed

v i gEfEw

Question ID : 99836723964
Status : Answered
Chosen Option : 4

@ TGt T el WA HeER F AT &
e X1 e g

v 2 gl S T o

X3 @ g S

Ko TER F A AT @A

Question ID : 99836723954
Status : Answered
Chosen Option : 4




